A-8 ANSWERS

60x 130x 60 600 2r—-15
. . = . 2L + — 4., — . 6. 18 h
61 16 o144 63. 2L I 6 T 65 3 6 8 hours
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Exercise 3.1 [page 107] 1. 11 3. -3 5. Not real 7. 3 9. 3 11. 3

-1 5
13. 3 15. Notreal 17. -2 19. -2  21. — 23, n 25. V3 27, 4Vx

29. Vax 31 {,/l——g 33. \3/3x_y 35. V-2 37. 7 39, (0" 4L 3™
43, Sx(yz)™# 45. x3 -3y 47, (x - 2y 49, 0.375; terminates

51. 0.83; repeatsapattern  53. 0.285714; repeatsapattern  55. 3.90; repeats a pattern

57. 1.414 59. 4.217 61. -2122 63. 1.125 65. 125 67. 2 69. -8

71. x 73 12<V175<13 75 7<V423<8 77, -5<V-846< -4

79. 3<V1I29<4

81. a. 13 inches b. 3.873 feet ¢. 1414 miles d. 0.48 centimeter

83. a. 12 millimeters b. 7.368063 yards c. 3.849 feet  d. 2.5 inches

85. 2.22 seconds 87. 16 feet 89. a. 24,997.76 miles per hour  b. 9,707.36 miles per hour
91. 0.283 centimeter  93. 16Y%; g&'" > g'"

gs. 1.41421, 1.25992, 118921, 1.07177, 1.00696, 1.00069; 2" approaches 1 as n gets very large.

97, x1/4 - (x 1/2) 12

1 1 ~27 16
ise 3. .27 ) L= 7. = = =
Exercise 3.2 [page 115] 1 3. 16 5 2 Y 9 23 11 73
1 1 3
13. Vx* 15, 3Vx2 17. — 19 21. 23. 2%y’
’ ’ % Ve T W ’
1
25. 6Vix + 2yP 27, ——=—=—  29. x¥  31. (ab)**  33. 24¥b*
-81
35. —4x7My 37, —(@+ b 39, 5Vab@@ - b)) 41. 8 43. - 2y°
-2
47. —a'b® 49, Tx’y’ 51. -3z%° 53. 7931 55. —10.903  57. 0.089
x2/3y 9 aéb]/l 1
59. 35.142 61. 2x™ 63. 3 65. 2x 67. Wj 69. 3 71. ;—o_-;b,—_gg



